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1(Sem-1) GGY
2023

GEOGRAPHY
Paper : GGY 0100104
(Introduction to Physical Geogrdphy )
Full Marks : 60
"T.ime : 2V hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

Answer the following qﬁestions : 1x8=8
(@) Who proposed the concept of
‘Geographical Cycle’?
‘COTNETT D MIell (I SsRGI3fEE ?

(b) Growth of nature-centric geography laid
the foundation of
() anthropological geography
{if} geomorphology
(iii) physical geography
(iv) environmental geography
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(d) Who proposed the the.ory of
Uniformitarianism ?
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(e) The popular name of Southern Ocean is

() Indian Ocean
(i) Arctic Ocean
(i) Antarctic Ocean

~ (iv) Atlantic Ocean
Vi TQTIeRR S SISOl CR(R
() OFS TP b
(i) G IRAE
(iii) FOIF TN
(iv) So=IT TR

() The term ‘Ecology comes from the two

Greek words
(i) oikos and logos
(ii) -okios and logos
(iii) oikos and logy
(iv) okios and lo'gus
‘SIS e *Co! oI M 7T 2} AR
(i) oikos 9¥ logos
(i) okios W< logos
(iii) oikos W% logy
(iv) okios UI% logus
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(g) The trade wind is a type of
(i) planetary wind
(ii) seasonal wind
(iii) sub-polar wind |
(iv) polar wind =

qifdey qOIR 9 4369
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(h) Out of the total incoming solar

radiation, the reflected back radiation

from the atmosphere and the earth’s = .

surface is

i) 25%

(i) 45%

(iii) 55%

(iv) 35%
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(i) 45%

(iii) S55% .

(iv) 35%
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2. Answer any six questions from the following :
‘ 2x6=12

wmwmmwwm

(@) What do you mean by the term ‘land-
form’? ‘

R A o q@le
(b) Give a definition of physical geegraphy.
elipfos wralleiT «ft el ﬁml |
(9 What is 1nsolat1on ?
CTR oA e
(d) Name any two warm ocean currents.
Rizre 7o e A @ired A B |
(e} What is peneplain.?
vwenﬂ—ﬁ I @2
| (f) Give two examples of precipitation.
yECEFeR o1 Sz f | |
(99 What do you mean- by the term

‘Environment’ ?

oAt el & gee
(h) Define biodiversity.

tertafbar eel fiml |
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(i)  Why does wind blow ?

P
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0-) Clte examples Of any tWO COId ocean “
currents ik
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3. Answer any fourquestlons from the followmg N
5x4=20 .

W '»w ﬁmzwr b1fbY e BT fs
(a) Trace the growth of nature- -centric . "
- geography A
oo @Wﬁﬂmmﬁeﬁ <o ke
(b) Explain ‘* 'the ; relatlon J between;,fg.}'
temperature and pressure G
Talo bl I Bi=iE W TR I Lol fa

(c) Write a note on the 1mportance of study' |
Tiof Blogeography | 3
G- ST g i afS (B

(d) What is catastrophlsm ? State how the
catastrophic events bring about

changes on the surface of the earth.
1+4=95
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(¢) How do ocean currents originate ?
Explain.
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() -Discuss about the interdisciplinary
nature of physical geography.

W_CWWWB@@WW
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() Explain the heat budget of the earth
- with a neat dlagram

ﬁﬁw%@ﬁﬁfﬁaﬂﬁmﬁaﬂmw:
(b What 'is  biosphere? State its
characteristics.

%%W?«rﬁs WWWWI

4. Answer any two questions from the‘fo]lowmg
10x2=20

meﬁmmgﬁrm@mﬁm

(@) Discuss the meaning and scope of
physical geography.
PO Sralle O ol «IfP[ D 31 |
(b) Explain how landforms originate
according to W. M. Davis.

W.M. Dav1sﬁW§W€l m'ﬂﬁ@
TR =4 |
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(c)

(d)

(e)

Describe the pressure belts and wind
arth with suitable

systems on the €
5+5=10

diagrams. £
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Discuss the scope and significance of
oceanographic studies. 5+5=10
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Discuss the elements and functions of
ecosystem with examples. 4+6=10

SrigaE ARENTEE GomETR W fEl-
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